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- K7 345kV 2 161KV R A £
s s ¥ Ak it HELE X
AMP MVA AMP MVA
345kV TR
ACSR 954MCM((45/7)D I circuit 1000x2 1195 1100x2 1314
ACSR 795MCM(26/7)Q Icircuit 910x4 2175 1005x4 2402
TACSR 795MCM(26/7)Q I circuit 1365%x4 3262 1505%x4 3597
ZTACIR 310 mm? Q 1circuit 1445%x4 3454 1545%x4 3693
ZTACIR 340 mm? D 1circuit 1515x2 1811 1625x2 1942
ZTACIR 340 mm? Q 1circuit 1515%4 3621 1625%x4 3884
345kV BT RHE
XLPE 2500 mm? S 1circuit 1830 1094 2445 1461
XLPE 2500 mm? D 1circuit 1830x2 2187 2445%2 2922
XLPE 2500 mm2 T 1circuit 1830%3 3280 2445x3 4383
161kV TR
ACSR 477TMCM(26/7)D I circuit 660x2 368 730x2 407
ACSR 636MCM(24/7)D I circuit 785x2 437 865x2 482
ACSR 795MCM(26/7)D Icircuit 910x2 507 1005x2 560
ACSR 795MCM((45/7)D Icircuit 895%2 499 985x2 549
ACSR 954MCM((45/7)D Icircuit 1000x2 557 1100x2 613
XTACIR 190 mm? D I circuit 1100x2 613 12102 674
ZTACIR 210 mm? D I circuit 1070%x2 597 1145%2 639
ZTACIR 260 mm? D 1circuit 1240x2 692 1324x2 738
ZTACIR 310 mm2 D 1circuit 1445x2 806 1545x2 862
ZTACIR 340 mm? D 1circuit 1515%2 845 1625%2 906
161kV T RE
O.F. 3000MCM S 1circuit 1160 323 1495 416
O.F. 3000MCM D 1circuit 915x2 510 1260x2 702
O.F. 3000MCM D 2circuits 660x2x2 736 990x2x2 1104
O.F. 4000MCM S 1circuit 1275 356 1665 464
O.F. 4000MCM D 1circuit 1000x2 558 1395%2 778
O.F. 4000MCM D 2circuits 705x2x2 786 1055%2x2 1176
161kV T RE
XLPE 1200 mm? S 1circuit 1160 324 1690 471
XLPE 1200 mm? D 1circuit 965x2 538 1445%2 805
XLPE 1200 mm? D 2circuits 780x2x2 870 1170%x2%2 1305
XLPE 2000 mm? S 1circuit 1485 414 1785 497
XLPE 2000 mm? D 1circuit 1225%2 683 1525%2 850
XLPE 2000 mm? D 2circuits 965%x2x2 1076 1240%x2x2 1383
XLPE 2000 mm2 T 1circuit 1055x%3 882 1343%3 1123
XLPE 2000 mm2 T 2circuits 1055%x3x2 1765 1343%x3x2 2247
i
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FHIZ BT RF R ALY P BTG E 5 Rf 0 27 ACERE ‘*‘:%ét’vﬁ;zﬁi?.ﬁ °

161kV XLPE 2000 mm? T 3.3 = W@ﬂfﬁ’AW@Q%T FERKFFZEpwRER ﬁgu._ﬁuwi i,
FELMEZREER -

* 42 345KV B T 7 B (B Ek

el

EUEN: -



2 — 0 g = Lé \J “_‘\ ';;?
HE = KT KV ETATIRE A
L2k LV T Ak F¥FEEE FrRd e
AMP MVA AMP MVA

69kV Y
AACATT MCM (19)S 1circuit 640 76 705 84
AACT795 MCM (37)S 1circuit 875 104 965 115
AAC954 MCM (37)S 1circuit 980 117 1080 129
ACSR477 MCM (26/7)S Icircuit 660 78 730 87
ACSR795 MCM (45/7) S Icircuit 895 106 985 117
ACSR954 MCM (45/7)S 1circuit 1000 119 1100 131
ZTACIR 210 mm? S 1circuit 1070 128 1145 137

69kV BT

XLPE 1000 mm? S 1 circuit 1070 128 1281 153

XLPE 1000 mm? S 2circuits 899x2 215 1106x2 264

XLPE 1000 mm? S 3circuits 783%3 280 983x%3 352

XLPE 1000 mm? S 4circuits 719x4 344 912x4 435

XLPE 1600 mm? S 1circuit 1358 162 1633 195

XLPE 1600 mm? S 2circuits 1130%2 270 1398x%2 334

XLPE 1600 mm? S 3circuits 979%3 351 1236x%3 443

XLPE 1600 mm? S 4circuits 896x4 428 1144x4 546
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2000 310 3—;§§;—§; 885X2 1159X2 1058 1385
2 ‘@_ _I[ .Q|
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2000 @8 1113x2 | 1387x2 1330 1658
370 Sie — —
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